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Section A {6 x 1 mark}

Choose the correct answer.
Wrile its number in the brackels provided.

], 2424242+2+2+2+2+2= x 2

(1 8

@ 9

(3 10

(4) 18 [
2. 3 X = 18

What is the missing humber?
(1) 6
(2} 7
(3) 15

W 2 B



3. Look at the picture below. Which number sentence shows that
10 balls are put equally into 5 baskets?

(1} 10+ 5 )

2)  10-5 .

(3) 10x5

(4  10+5 (
4. Aticycle has 3 wheels.

How many wheels do 4 tricycles have?

1y 7

(2) 12
B} 15
(4 16 {



5.  Three oranges are sold for $2.

$2-

Mr Ng spends $ , if he buys 6 oranges.
6
(2) 12
(3) 3
(4 4 {

6. Sharon has 3 vases. Q
She puts 5 flowers info each vase.

Y.

How many flowers does she have altogether?

(95
(2) 8
(3) 15

(4 25 (



Section B {5 x 1 mark)

Read the questions carefully. :
Write the correct answers in the spaces provided.

/. Complete the number pattern.

20 , 24 , 28, , 36

o o \
i + ()

Look qi the numbers below.

(8) {5 <40

Write a multiplication and a division sentence using the given
numbers.

o

I
o




11.  Whatis the missing humber?

Number of 2 A 7 8
packets

Number of 4 8 ? 16
sweels

The missing number is

Section C (2 x 2 marks)
Read the guestions carefully. '
Write your answers in the spaces provided.

12. MrTan buys 25 mangoes.

He puts them equally into 5 baskets.

How many mangoes are there in each basket?

There are : mangoes in each basket.

C E——



13. A sticker album has 4 pages.
There are 6 stickers on each page.

How many stickers are there
daltogether?

[l

There are stickers dlfogether.

End Of Paper
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Q1 Q2 Q3 Q4 Q5

2 1 4 2 4

Q7) 32

Q8) 9

" Q9) 8x5=40

Q10) 40+5=8

Q11) 14

Q12) 25+5=5

There are 5 mangoes in each basket.
Q13) 4x6=24

There are 24 stickers altogether.
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